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MA 141-012 F18 Recitation 12, Nov 13

1. Give a brief explanation for why the following expression gives the exact value of the
area of the shaded region below. Compute the exact area. What definite integral can

be used to check the answer?
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2. Evaluate the definite integral ffg %ﬁd'r then give a geometric interpretation.

3. Evaluate the definite integral /sec!(70) — tan”(46)d6.

V16 =g% for x| £4

4. Evaluate the definite integral ffﬁ f(z)dx where f(x) =
x? — 16, for 4 < |z|.

5. Evaluate the integrals using substitution.

2
a)/sec(4:r; — %) tan(4z — 5)dz %ﬁ% c)/1 x(3z% — 1)%dx
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Theorem 2. Formulas for Sums
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Properties of the Definite Integral
Let a, b and ¢ be real numbers with a < b and f and g be continuous functions. Then

L ./:f(x)dx=—j;bf(x)dx
Z.Laf(x)dx-—-()
3 j;bcdx=c(b—a)

o [ gt dx= [ fixaxs [ gdx

5; !:c{(x) dx @./;bf(x) dx

6 j:’f(x)dx=j;cf(x)derjjf(x)dx
7.1 f(x) 2 0 for all x € [a, b], then fbf(x)dxzo
t b
8.1If f(x) > g(x) forall x € [a, b], then f f(x) dxzf g(x)dx

9.Ifm< f(x)<Mforall x € [a,b], thenm(b-a) < fbf(x)dst(b* a)
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